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   A B C   :

 A =( 1,2 , – 6 , -7 )                                                                                  
B = ( -6 , -7 , -11 )                                                                                  

        C = ( 1,2 )                                                                                                     

       :

C = A  ∪  B

C = A  ∩  B

B  –C =  A  

C =  B  –  A   

      U  A    B     

U =( 1 , 2 , 3 , 4 , 5 , x , y , z , w)                                                                                  
A = ( 1 , 2 , 3 , x , y )                                                                                                      
B = (3 , 4 , 5 , x , w)                                                                                                        

   A  ∪  B   

( 3 ,  x )

( 4 , 5 , z , w ) 

 ( 1 , 2 , y , z ) 

 ( 1 , 2 , 3 , 4 , 5 , x , y ,w )

C

C

A

BA – B

 BA 

U∩

A B



 شيءٌ آخر

3 

      U  A    B     

U =( 1 , 2 , 3 , 4 , 5 , x , y , z , w)                                                                                  
                  A = ( 1 , 2 , 3 , x , y )                                                                                                      

                                                                       B = (3 , 4 , 5 , x , w)                                                                                                       

   A  ∩  B    

( 3 ,  x )

( 4 , 5 , z , w )

 ( 1 , 2 , y , z ) 

( 1 , 2 , 3 , 4 , 5 , x , y ,w )  

      U  A    B     

U =( 1 , 2 , 3 , 4 , 5 , x , y , z , w)                                                                                  
     A = ( 1 , 2 , 3 , x , y )                                                                                                      
     B = (3 , 4 , 5 , x , w)                                                                                                        

  Ac 
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      U  A    B     

U =( 1 , 2 , 3 , 4 , 5 , x , y , z , w)                                                                                  
A = ( 1 , 2 , 3 , x , y )                                                                                                      
B = (3 , 4 , 5 , x , w)                                                                                                        
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 A  ∩  Bc =  ∅  
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10 × 10 × 10 × 10 × 26 × 26 ×  26 = 175,760,000 

10 × 9 × 8 × 7 × 26 × 25 ×  24 = 78,624,000 
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        STATISTICS  
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  AB     B    A

  P(A) ≥ P(B) أ ( 

  P(B)≤ P(A) ب( 

 P(A) = P(B)  ج (

 P(A) ≠ P(B) د ( 
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  A cA     69%  ) cP(A

 P ( A ) = 0.69     أ (

   0.31P = ( A )    ب( 

 P ( A ) = 0.69%ج ( 

 P ( A ) = 0.31%د ( 

 

  A cA       69% )  cP(A

 % P ( A ∪ Ac ) = 0 أ ( 

 P ( A ∪ Ac ) = 31%ب( 
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